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No. 1 2 3 5 1 & #HxE
E F 4 WTFQ WTFQ WTFQ WTFQ WTFQ JIE 5z
1 KHE B sk ook olokok kokkk kkkk 20 1 P
2 5 EER) sk klokk ktokk kkok kkkk 18 8 P
3INEFE WK 20 1P
4 E #BE Kk ok kokolok ololk kekkk kkkk 19 6 P
5 £ B solok ok kkkk kekk % % 14 13
6 HE £ ®kkk bk kkkk kkkk k16 11 P
1 Wi B= % k% kkkk kk ok k kkkk 15 12 P
8 Fith IE sk kkkk kkkk kkk  kkkk 18 8 P
9 B = sobokk sklokk klokk klokk kkokk 200 1 P
10 /NI F1E $okokk okkk kkkk kkkk dkkk 200 1 P
11 &% L sokok 19 6P
12 3BT EREER * kk * 4 14
13 §g)Il HE sookk sklokk klokk klokk kkkk 200 1 P
14 XA FX K% ok kkkk  kk kkkk kkkk 17 10 P
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sordordork [ ZEIRRE ] kkkokkokk
No. 1 2 3 5 1 B3 #H%E
E F A4 WTFQ WTFQ WTFQ WTFQ WTFQ JIE 52
1 KH B * X ok ok % 5 11
2 W  EEF * * *x x4 12
3 INEFE KK kkkk kkkk kkkk skkkk skkkk 20 1P
4 E #E ¥ kkkk x kk kO 6P
6 HE £ KKK KkkK Kokokok 12 3P
1 Mg B sokokk Hok 6 9
8 Fith IE sokkk ckkkk ok 10 5P
9B =ih Rokkok dok * xkkk 11 4 P
10 /MIL F1E $okkk okkk kkkk kkkk dkkk 20 1 P
11 &8 [L#0 Kk * % okkkk 8§ 8
13 88l ®HE sk okkkk kK ok 9 6P
14 KAWL s$F=X x % ¥ *x * 6 9
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sorfordork [ R B ] sekkkkekk

NO. =} F 4% 1 2 3 5 7 @t
i H Waltz
3 INEFE W™K 1 2 1 1 1 1.0
4 BmE #BE 7 4 5 5 5 40
6 BE = 4 7 3 3 71 3.0
8 éﬁﬂﬂ___iﬁﬁ 5 3 7 6 4 50
9 B =E_ 3 6 6 71 3 1.0
10 /Ml FE 2 1 2 2 2 20
13 f@ll =E 6 5 4 4 6 6.0
# B Tango
3 IMEFE /K 2 2 1 1 1 1.0
4 BWE #F 7 5 5 5 5 50
6 thE = 4 7 4 3 6 4.0
8 Zih IAE 5 3 7 4 4 30
9 B = 3 6 6 6 3 60
10 /Ml FE 1 1 2 2 2 20
13 #@ll =& 6 4 3 7 1 10
i H V.waltz
3 INEFE BK/K 1 1 1 2 1 1.0
4 WE #£BF 7 5 6 5 4 50
6 tE = 6 7 5 3 6 6.0
8 yith BE 4 4 4 4 5 4.0
0O B =fh 5 6 7 71 3 1.0
10 /Il FE 2 2 2 1 2 20
13 %Il HE 3 3 3 6 71 3.0
i H Fox trot

3 IMNEFE WK T 11 1 1 1.0



4 WE #£BF 7 5 5 3 4 40
6 #E & 4 7 4 4 5 3.0
8 Fith IE 3 3 6 5 6 50
9 B =M 5 6 7 6 3 6.0
10 /WL FE 2 2 2 2 2 20
13 %@ HE 6 4 3 7 1 1.0
2 B Quick step
3 INEFE KX 1 1 1 2 1 1.0
4 WE #F 7 4 5 7 5 6.0
6 thE = 4 7 3 3 6 4.0
8 Zyith WY 3 3 6 4 3 3.0
9 B = 5 5 7 5 4 50
10 /NIl FHiE 2 2 2 1 2 20
13 %Il HE 6 6 4 6 7 1.0
WhERER
No. & F £ W T V F Q &5 Bk
3 /J\E%i% KR 1.0 1.0 1.0 1.0 1.0 5.0 1.0
4 WE £BF 4.0 50 50 40 6.0 240 5.0
6 *;rl" = 3.0 40 6.0 3.0 40 20.0 4.0
8 Fyith IE 5.0 3.0 4.0 50 3.0 20.0 3.0
9 B = 7.0 6.0 7.0 6.0 5.0 31.0 7.0
10 /NIl FHiE 20 2.0 2.0 2.0 2.0 10.0 20
13 %Il HE 6.0 7.0 3.0 7.0 7.0 30.0 6.0
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HES BHBES M E F K 4 N—hrF—% B B B &
1 01060003 A HH i Bl RF R OB R
2 01060024 A #&53 ZEEH] AR M R OB EERRE
3 01040063 A /NEFE KX FER BT R OB F1fu
4 01030023 A ®E #E mE =Ex R OB ES5f
5 01030008 B {&pk Ea £k F E - 1 %%
6 01050043 A #kBE = =& ®ICF B A Faf
7 01030017 B #ilf B it EEF B OER EEIRRH
8 01070027 A Zgih m#Er BA M= R OB E3fu
9 01030029 B B 3fh EiE R A E7f

1.0 01040032 A /NIl F{E NI D B A FE2fu
11 01040066 A {ciE |L#0 £k HF B OER EERR
12 01040013 B I EEED I BEHMF C I 1 %%
1.3 01040035 A #&)Il K& £k & R AP E6fI
14 01030031 B KA FEX BEH =R B OAR EERRH
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